LHS 17.4.2013 e
5 o)
CSOB-SHK POPISY
LHS 17.4.2013 Y |LHs 17.4.2013 Y |LHs 17.4.2013 Ry
D1 1.970 0 D2 1.240 0 D3 1.520 0
brana v ploté brana v ploté brana v ploté
1|40|vyrazny strom 1|42]S roh plotu 1|40|vyrazny strom
2| 35|JZ roh plotu 2| 35(JZ roh plotu 2 | 41 |malé kiovi
3| 39| kfizeni péSin 3| 39| kfizeni pé&Sin 3| 46 |mostek
4| 49|brana v ploté 4| 38| malé kiovi 4| 44 |skupina strom{
O ———-50————> 0| |5|49|branav plot& 5| 49|brana v ploté
O-—-——-50-—->0] [O———-50-—->0O
LHS 17.4.2013 R
D4 2.310 0 LHS 17.4.2013 Y |LHs 17.4.2013 OoReY
brana v ploté D5,H5 2.730 0 H1 1.970 0
1 | 34|vyrazny strom brana v ploté brana v ploté
2133([SV roh krovi 1131|JV roh hristé 1|42|(S roh plotu
3|36 |prohluben 2 | 34 |vyrazny strom 2133|[SV roh krovi
4 | 46 | mostek 3| 36| prohluben 3| 46| mostek
5| 45|V okraj kfovi 4 | 45|V okraj kiovi 4] 49|bréna v ploté
6 | 37|JV okraj kfovi 5| 48|J konec ryhy O-——-50——"->0
7 | 38 | malé krovi 6|47|jama
8| 49|brana v ploté 71 43|SV roh krovi LHS 17.4.2013 7
O ————-50————> )| |s8]|38|malé kiovi H4 2.390 0
9| 49|brana v ploté D brana v ploté
LHS 17.4.2013 N lO-——-850—-——->0)] |1]|32|socha
H2 1.270 0 2 | 41 |malé krovi
brana v ploté LHS 17.4.2013 *1 [3[36]prohluber
1|31 [JV roh hfisté H3 1.530 0 4 | 46| mostek
2| 35(JZ roh plotu brana v ploté 5| 45|V okraj kifovi
3| 46| mostek 1] 32]|socha 6| 43|SV roh kfovi
4| 38| malé krovi 2| 33| SV roh krovi 7 | 44 |skupina strom
5| 49|brana v ploté 3| 46| mostek 8| 49|brana v ploté
O ————-50————> )| | 4]|44|skupina stromu Q-———-50———>0O)
5] 49|brana v ploté
Q-———-50-—>0
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